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QUESTION 1

You have two lists of values to correlate.

colorsl colors?
S em e —— —_-——— - = A —— +
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Which query lists all names in colors1 and how many total matches are there in colors2?

A. SELECT colorsl .name.count (colors2.name) FROM colors1. Colors2 WHERE Colorsl. Name = (SELECT
DISTINCT name FROM colors2 WHERE colors1.name=colors2.name) GROUP BY colorsel.name,

B. SELECT colorsl.name, count(colorse2. Name) FROM colorsel .name =colors2.name WHERE colors1. Name
=colors2.name GROUP BY colorsl.name,

C. SELECT colorsl. Name count (colors2.name) FROM colors1l INNER JOIN colors2 on colorsl. Name =colors2.
Name GROUP BY colorsl .name;

D. SELECT colorsl.name, count (colors2.name) FROM JOIN colors2 on colorsl .name =colors2.name GROUP BY
colorsl.name;

E. SELECT colorsl.name, count (colors2.name) FROM colors1l RIGHT JOIN colors1 on colorsl .name =colors2.name
GROUP BY colorsl.name;

Correct Answer: D

QUESTION 2

Which condition must be true in order that a view is considered updateable?

A. The user must have the UPDATE or DELETE privilege for the underlying table.

B. There must be a subquery in the WHERE clause that refers to a table in the FROM clause.

C. There must be a one-to-one relationship between the rows in the view and the rows in the underlying table.
D. The view must only refer to literal values.

Correct Answer: C

QUESTION 3

Examine this table that contains over two million rows of data:
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CREATE TABLE "news_feed\\' (

.id\Vbigint (20) NOT NULL AUTO _INCREMENT,

.news _sources_id\\'varchar (11) NOT NULL,

.dataline\\' datetime NOT NULL,

.headline\\' varchar (256) NOT NULL,

.story\\' text NOT NULL,.tag varchar (32768) DEFAULT NULL, PRIMARY KEY (Cid\\')
KEY “dateline\\' ( “dateline\\")

)

Examine this query that returns 332 rows of date:

SELECT *

FROM news_feed

WHERE DATE(dateline)= "2013-01-01\\

Which change would show the greatest improvement in the response time of the query?
A. Use the LIKE operator: SELECT . . WHERE dateline LIKE "2013-10-01and\\'

B. USE the DATEDIFF function: SELECT . . . WHERE DATEDIFF (dateline, "2013-01-01\\') = 0

C. Use numeric equivalents for comparing the two dates: SELECT. . WHERE MOD(UNIX_TIMESTAMP (dateline),
86400 =UNIX_TIMESTAMP ("2013-01-01\V)

D. Use a date range comparison: SELECT . . . WHERE dateline >= "2013-01\\' and dateline

Correct Answer: D

QUESTION 4
Using the query:

SELECT Code FROM country WHERE Name = "united states\\' Which statement executed in the mysq| client would
create a prepared statement?

A. PREPARE STATEMENT countrycode FROM "SELECT code FROM counyry WHERE Name =7.;
B. PREPARE countrycode As "SELECT code FROM country WHERE Name =?.;

C. PREPARE countrycode FROM "SELECT code FROM country WHERE Name =7?.;

D. PREPARE STATEMENT countrycode As 'SELECT code FROM country WHERE Name =?.;

Correct Answer: C
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QUESTION 5

Which statement describes the process of normalizing databases?

A. All text is trimmed to fit into the appropriate fields. Capitalization and spelling errors are corrected.

B. Redundant tables are combined into one larger table to simplify the schema design.

C. Numeric values are checked against upper and lower accepted bounds. All text is purged of illegal characters.
D. Columns that contain repeating data values are split into separate tables to reduce item duplication.

E. Indexes are created to improve query performance. The data of types of columns are adjusted to use the smallest
allocation.

Correct Answer: D
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